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Answer Sheel lable for rejection.
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Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet,

This Test Booklet containg 150 items (questions) in two pars : PART - A and PART — B. Eack
item in PART — B is prinied both in Hindi and English. Each item comprises four responses
(amswers). You will select the response which you want to mark on the Answer Sheet. In case you
feel that there is more than one comect response, mark the response which you consider the best.
In any case, choose ONLF ONE response for cach tlem.

You have to mark all your responses OVLY on the separate Answer Sheet provided, See directions
in the Answer Sheet.

All ftemns carry equal marks.

Before you proceed to mark in the Answer Sheet the response (o various items in the Test Booklet,
you have o fill in some particulars in the Answer Sheet as per mstructions sent 1o you with your
Admission Certificate,

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator endy the Answer Sheet. You are permitted to 1ake
away with you the Test Booklet.

Sheets for rough work are sppended in the Test Booklel st the end,

Penalty for wrong Answers :

THERE WILL BE PENALTY FOE WRONG ANSWERS MARKED BY THE CANDIDATE IN THE
ORJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question, For each question for which
a wrong answer has been given by the candidate, ome=third (0-33) of the marks assigned
to that question will be deducted as penalty.

{iiy If a candidate gives more than one answer, it will be treated as a wrong answer even 1f one
of the given answers happens to be correet and there will be same penalty as above to that
question.

(i} If & question is left blank, i.e., no answer is given by the candidate, there will be mo penalty
for that guesnon.
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PART - A
SPOTTING ERRORS

Directions for the following 10 (ten) ftems :

Each question in this section has a sentence with three underlined pans labelled (a), (b)
and (c). Read each sentence to find out whether there is any error in any underlined part
and indicate your response in the Answer Sheet against the corresponding letter i.e., (a) or
(b} or {¢). If you find no error, your response should be indicated as (d).

1. My friend was  habitual to drive a car  al very high speed. No error.

(a) (b) (c) (d)
2. Being a day of national mourning  the offices were closed
(a) (k)
and the national fMag flew half mast. No error,
(c) (d)
3 If you are w&nting to watch  the birds nesting  you must not let them see you.  No error.
(@) (b) () (d)
4. Hedoesnot listento  what | say, although | am advising him for a long time.  No error.
(a) (b) (e) (d)
5. Itis most essential forus  to reach the station before noon  lest we should miss the train.
(a) (b) (c)
No error.
(d)

. 1 asked him what had brought  him there. No error.
(a) (b) {c) (d)

The guards darenot  to harm him.  No error.

T il
{a) (b) (c) (d)

q, The Principal looks very worried

{a)
because students are on strike for the last fifteen days as a protest against
(b} -
his disciplinary action against some misereants.  No-error.
(c) (d)
ADN-5-F5T - A 2
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The king was embarrassed

(a) (k)

to find evidences  against his own queen.

Mo error.

(e) {d)

jo. Aslprefer coffec thantea  my fmends always take the trouble

12.

(a)

{b)

to get me a cup of coffee whenever | visit them. No eror.

{c)

SYNONYMS

Directions for the following 5 (five) items :

(d)

Each item in this section consists of a sentence with an underlined word or words followed
by four words or groups of words, Select the word or groups of words that is most similar

in meaning o the underlined word.

Hospitality is a virtwe for which the
natives of the East in general are highly
admired.

{a) Duty of a doctor
{(b) Generosity shown 1o guests
(c) Cleanliness in hospitals

{d) Kindness

House rent in cities like Mumbai or .

Delhi has risen to astronomical figures
beyond the reach of even high-salaried
people.

{a) exorbitant
(b} commercial
{c) planetary

{d) illogical

13.

14.

15.

Appropriate technology holds the key to

a nation’s development.

(a) Modemn

(b) Suitable

{c) Effective

(d) Growing

He was enamoured of his own golden
YOICE,

{a) wvery fond of

(b)
()
()

concerned with

obsessed with

imbued with

Some journalists are guilty of indulging
in yellow journalism.

(a)
(b}
(c)
(d}

misrepresentation
vulgarization
sensational reporting

loud gestures

A = ADN-5-FST
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ANTONYMS

Directions for the following 5 (five) items :

16.

17.

18.

Each item in this section consists of a sentence with an underlined word or words followed
by four words or groups of words. Select the word or group of words that is most nearly
opposite in meaning to the underlined word.

The culprit was sentenced by the Court. {b) cautious

(a) acquitted (¢) calculating

(b) punished (d) seasoned

(&) Seeieved 19, 1 was prepared to show my hand provided
{d) pardoned he agreed to do the same.

Thrifty as he is, he can well afford to (a) to yield

live within his means. {b) to shake hands

(a) careless {¢) to conceal my plan

(b) instinctive (d) to lose my ground

(c) sentimental 20. Akbar the great was a sagacious ruler.
(d) extravagant (2) haughty i

Do not give him a responsible job, he is (b} cunning

immature. (€} rude

(a) thoughtful (d) unwise

SELECTING WORDS

Directions for the following 10 (ten) items :

Each of the following sentences has a blank space and four words given after the sentence.
Select whichever word you consider most appropriate for the blank space and indicate your
response on the Answer Sheet.

21. She has been lying in bed for the last 23. | feel for those who are cruel
fortnight. | hope she will - to their children.
{a) come out (a) sympathy
{b) pull out (b) contempl
{c) pull through (e} admiration
(d) go out {d) craving
22, The path of progress is beset 24. Both the parties were keen to have an
difficulties. settlement of the dispute.
(a) with (a)} enviable
(b) by (b) inimical
{c) through () worthy
(d) along {d} amicable
ADN-S-FST - A 4
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| have come to know that the two 28. The belief in the of vaccina-
brothers have . tion is gaining ground.

(a) fallen through {a) immunity

{b) fallen out (b) prevalence

{¢) fallen for (c) efficacy

(d) fallen short (d) workability

Everybody finds his own work s T s young man
whereas he feels that others have N e e

delightful jobs.

(a) tedious (a): haughty

(b) fabulous (b) intoxicated

{¢) unprofitable {c) fan-:tfull

(d) indecent (d) dynamic

The accident took place because of the 30. They found a worldof ___-__ between
criminal of the driver. what he said and what he did.

(a) performance (a) chaos

(b) disregard (b) bitterness

(¢} negligence {c) difference

(d)- slackness (d) hope

ORDERING OF WORDS IN A SENTENCE

Directions for the following 7 (seven) ilems :

31.

Each of the following items in this section consists of a sentence the parts of which have been
jumbled. These parts have been labelled P, Q, R and S. Given below each sentence are four
sequences namely (a), (b}, (c) and (d). You are required to rearrange the jumbled parts of the
sentence and mark your response accordingly.

The statement  therefore you must listen carefully  what the speaker has said
P Q
in order to understand  will be made just once
R &

The proper sequence should be
(a) SPRQ
(b SRQP
() RSPQ
(d SPQR

3 A — ADN-5-F5T
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32. The small boy who broke his leg  fell down and climbed the wall
P Q R 3
The proper sequence should be
(a) PSRQ
(b) SQRP
(¢} QSRP
(d) SPRQ

33. According to an engineer  might hit the market next year
P
a newly developed air - cooler system  that employed in conventional room coolers
Q R
which is based on a principle radically different from
S
The proper sequence should be
(a) SQRP
(b) RSQP
ic) QSRP
(d) PQRS

34. The clerk  onthe desk lefi the money inthe safe  which he should have locked up
P Q R 5
The proper sequence should be
(1) SRQP
(b) QRSP
©) PORS
(d) QPSR

35. Hardly had my brother descended from the plane  when the people  waved and cheered
P Q

who had come to receive him  from the lounge
R 8

The proper sequence should be
(@ PQRS
(b) RSPQ
(c) RPQS
(d) PRSQ

ADN-5-FST - A fy
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36. The essay like that of the human face  because its variety is infinite  js a literary form

37.

e

P Q R

which is not easy to define
5

The proper sequence should be
(a) PQRS
(b) PQSR
(¢) RSQP
() RSPQ

The exhibition committee attractive and useful 1o make exhibition  making efforts

g 0 i

has been
5

The proper sequence should be
{a) QSRP
(b)) SROQP
(©) QPSR
(d) SPQR

SENTENCE IMPROVEMENT

Diirections for the fellowing 13 (thirteen) ffems ;

Look at the underlined part of each sentence. Below each sentence are given three possible
substitutions for the underlined part. If one of them (&), (b) or (¢) is better than the underlined
part, indicate your response on the Answer Sheet against the corresponding letter (a), (b) or
{c). If none of the substitutions improves the sentence, indicate (d) as your response on the

Answer Sheet. Thus a “No improvement™ response will be signified by the letter (d).

. My old teacher gave many poor students money in spite of he was poor.

{a) even though
{(b) asif
(e} however

{d) NO IMPROVEMENT

T A — ADN-S-F5T
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39, You should to read the newspapers regularly if you want to be well-informed.
(a) ought
(b} have to
(¢} should be
()} NO IMPROVEMENT

40. If he had histening to me he would not have got lost.

(a) listened me
(b} listened to me
fe) listen me

(d) NO IMPROVEMENT

41. He asked for a bank loan alsp he didn’t have sufficient resources.
(a) because
(b} even if
(c) requiring

(d) WO IMPROVEMENT

42. | went io the shop to buy some siationeries.
{a) stationery
(b) stationary
{c) stationaries
(d) NO IMPROVEMENT

43. | have been waiting here for the last two hours.
{a) from
(b) since
{c) by
(dy NO IMPROVEMENT

44, The table needs to be painted.

(a} paint

{b) painting

{c¢) having painl

(d) NO IMPROVEMENT

ADN-S-FST - A 8
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It began to rain heavily just when | prepare to go out.
(a) prepared

{(b) was preparing

{c) have prepared

{(d) NO IMPROVEMENT

The couple seemed to love one another very much.
{a) every other

(b) each

(c) each other

{d) NO IMPROVEMENT

It is high time that we did something.
{a) had done

{(b) would do

(¢} have done

(d) NO IMPROVEMENT

If 1 were a millionaire, I would have helped the poor.

(a) am capable of helping
(b) could have helped

(¢) would help

(d) NO IMPROVEMENT

The training programme was extended for a month.
fa) from

(b) until

(¢) since

(d) NO IMPROVEMENT

The painting which they were looking at was done by my sister.
(a) what

{b) that

(¢} whom

(d) NO IMPROVEMENT

www.upscstudymaterials.com

A — ADN-S-FST



www.upscstudymaterials.com

PART-B

The following & (8ix) items consist of two
statements, Statement 1 and Statement 11
Examine these two statements carcfully and
select the correct answer using the code given

below :

Code

{a)

()

()

51. Stalement [

Statement IT ¢

52. Statement |

Statement I1 ;

53. Statement 1

Both the statements are individually
true-and Statement II is the correct
explanation of Statement 1

Both the statements are individuall:,r
true but Statement I1 15 wef the
comrect explanation of Statement |

Staternent [ 1s true but Statement 11
i5 false

Statement [ is false but Statement 11
i5 ifrue

+ Vanability of annual ram-
fall is very high in western
part of Rajasthan.

Averape annual rainfall
is extremely low in
western Rajasthan.

: Ozone is a tri-atomic
molecule of oxygen.

Ozone 15 concentrated
mainly in stratosphere.

: The laterite soils develop
in areas with high
temperature and high

ramnfall.

Statement 1l : Laterite soils are the
result of intense leaching
process.

ADN-5-FST - A

54, Statement [

Statement [ :

58, Statement [

Statement 11 :

56. Statement [

Statement [T

: Too much salt content in
diet could be one of the
reasons for kidnev failure.

High salt may cause
high blood pressure.

: The city of Rome revived
m a spectacular way In
the 15th century.

From the 15th century
onwards, artists were
known individually by
name, not as member of
a group or a guld, in
Roman society.

: Chartism was the political
reform campaign for
democratic nights which
swept over Brtam
between 1838 and 1848,

The trade umon move-
ment declined by the
18305 as it failed to fulfil
the aspmations of the
working class.

57. *SBahel’ region of Sahara desert 15 asso-
ciated with

{a)
(b)

te)

(d}

core area of Sahara desert

southern moving edge of Sahara
desert

northern fringe of Sahara desert
bordenng Meditérmanean sea

-another name of Sahara desert
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Which one of the following pairs of a
nver and itz tnbutary 1s mof correctly
matched ?

{a) Godavar Waimnganga
(b) Cauvery Bhavani
{c) MNarmada Amaravats
(d) Krishna Bhima

In which one of the following countries,
the Mediterrangan type of Biome 138
found 7

(a) Chile
(b) Kenya
(¢c) Argentina
(d) Bolivia

Arrange the following states n order of

their decreasing population size as per
the census 2011 :

1. West Bengal

2. Bihar

3. Maharashira

4. Andhra Pradesh

Select the comrect answer using the

code given below :

(2= 1
® 3-2-1-4
{fey 1 —-4-3-2
(O i Y

Match List I with List IT and select the
correct answer using the code given
below the Lists :

62.

Last 1 List 1T
(River) (Maouth of the
river}
A. Danube 1. North sea
B. Rhine 2. Black sea
C. Rhone 3. Bay of Biscay
D. Loire 4. Mediterranean
sEa
Code
A B € D
(a) 2 1 4 3
k) 3 4 1 2
{c) 2 4 1 3
dy 3 1 4 2

Match List [ with List 11 and select the

correct answer using the code given
below the Lists :

List 1 List 1T
{Process) (Type of change)
A. Heatmg Camphor 1. Chemical
B. Cooling of water 2. Evaporation

Yvapour up o
room temperature

3. Condensation

G Conking an e 4. Sublimation

D, Formation of
waler vapour at
room temperature

Code :
A'' B € D
(a) 4 | 2
(by 4 1 3 2
{c) 2 1 3 4
d 2 3 1 4

www.upscstudymaterials.com
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Identify the element having zero valency
(a) Sulphur

()
(c) Lead

Phosphorous

(d) Radon

. There are six electrons, six protons and

six neutrons in an atom of an element.
What 15 the atomic number of the
element 7

(a) 6

(b)
(c)
(d) 24

12

18

Which one of the following has different
number of molecules 7 (All are kept at
normal temperature and pressure)

(a) 3 gram of Hydrogen
(b) 48 gram of Oxvgen
(c) 42 gram of Nitrogen

(d) 2 gram of Carbon

Combination of one volume of nitrogen
with three volumes of hydrogen produces

{a)  one volume of ammonia
(b)
()

(d)

two volumes of ammonia
three volumes of ammonia

one and a half volumes of ammonia

ADN-5-F5T - A

14

67.

Consider the following statements about
cactus :

1. The leaves are reduced to spines,
2. The stem does the photosynthesis.

Which of the statements given abowve
15/are comect 7

(a) 1 only
(b) 2 only
(¢c) Both 1 and 2

(d) MNeither 1 nor 2

In which one of the following, methano-
gens, i.e., methane producing bactena are
mof present 7

Rumen of cattle

()

Aerohic envitonment

(b)
Anaerobic sludge

(&)

Excreta of cattle

(d)

Malarial parasite is a
(a) bacteria
(b} protozoa
VITUS

{c)

(d) fungus
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With reference w0 biodiversity, which of
the following statements is/are correct 7

1. Species richness and high degree of
endemism are mmportant critena for
identifying biodiversity hot spots.

2. Species diversity 15 highest in the
ropics and decreases down the

poles.

3. Biodiversity conservation may be
in situ as well as ex sifu.

Select the comrect answer using  the
code given below :

{a) 1 only
{(b) 2 and 3 only
{(c) I, 2and3

(d) 1and 3 only

It is difficult to kaill viruses because they
(a) consistof tough protein coat

(b} are very small in size

lack cellular structure

]

(d) spend a lot of time inside the host’s
cells

When a ray of light enters a glass slab,
then

{a) only the frequency changes
(b)
(c)

(d}

frequency and velocity change
frequency does not change

frequency and wavelength change

ADN-5-FST - A

16

73.

74.

T

76.

A ball is thrown vertically upward from
the pround with a speed of 25-2 m/s. The
ball will reach the highest point of its

joumey m

{a) 514s
(b} 3-57s
{c) 2:578

(dy 1294

One kilowatt hour is equal to
(&) 36 = 107 joule
(b} 36 = 10°joule
{c) 107 joule

(d) 10°joule

When sound waves are propagated
through a medium, the physical quantity/
quantities transmitted is/are

{a) malter only
(b} energy only
ic) energy and matier only

(d) energy, momentum and matter

Pressure is a scalar quantity because

it is the ratio of force to area and both
force and area are veclors

{a)

(b} 1t 15 the ratio of magnitude of force

0 area

(¢) it 15 the ratio of component of force

{normal to area) to aren

(d) none of the above
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17

13,

T4.

73,

76.

uF iy UOEE #, 252 m/s i W § 6
FE ST a0F Hehl L £ | W5 9T 9T %
T fig w T wwm & gt 7

(a) S-14s

(b) 357s

(c) 237s

{d) 129s

ww feeirane =@z T svEk e 8 7
(a)
(b)
(€}
(d)

36 % 107 9@

36 x 10° 5@

1% o

105 =

T A A Tl arem # EER aEia
it & =t =9 e ofir /ol e
Bt 2/ 7

(a) oael g

(b) Fw FAl

(c) Fae F=l I g

(d) A, g AR 7=

=, w Aty ofi 2, wifE

(a) FE & F, SAFE & Y HIE T,
1w AN SEa oAt afta €

(b) T8 =9 & yfoaw =1, #0ET & 9g
A &

(¢) e AN (EFFFA & AHASAT) = T
1, SAFE & g8 HAIE &

(d) Fwfer d & W T

A — ADN-5-FST
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A person 15 unable to read a newspaper
without his glasses. He is most probably
suffermg from

(a) myopa

(b) presbyopia

astigmmatism
hypermetropia

The free fall acceleration g increases
as one proceeds, al sea level, from the
cquator toward either pole, The reason is

{a) Earth 15 a sphere with same density
everywhere

(b) Earth 15 a sphere with differemt

density at the polar regions than in the
equatonal regions

(c) Earth is approximately an ellipsoid

having its equatorial radius greater

than its polar radius by 21 km

(d) * Earth is approximately an ellipsoud
having its equatonial radius smaller
than 1ts polar radius by 21 km

Which one of the following statements
15 correct 7

(a) The measurement of mass taken by
a spring weighing balance is correct
at the place where the spring balance
is-calibrated for

The measurement of mass taken by
a spring weighing balance 15 correct
at all places

(b)

ADN-S-FST - A
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80,

81.

8.

The measurement of mass taken
by a spring weighing balance is
comrect at the places where the
acceleration due to gravity is same
with the place where the spring
balance is calibrated for

(c)

id) A spring balance cannot be used to

measure mass at any place

Which one of the following 15 met a
contact force ?

(a}) Push force
(b} Gravitational force
(c) Fnctional force

(d) Sirain force

When a force of 1 newton acts on a
mass of 1 kg which 15 able to move freely,
the object moves in the direction of
force with afan

(a)
(b)
{c)

(d)

speed of | kmi/s
acceleration of 1 m/s?
speed of 1 m/s

acceleration of 1 km/s?

Which of the following items is used
in the houschold wirings o prevent
accidental fire in case of short circuit 7

{a) Insulated wire
(b)

()

Plaste switches

Non-metallic coatings on conducting
wires

Electric fuse

(d}

www.upscstudymaterials.com
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e safen A 999 & T armeE TE R
wal | gak el difes B9 o afies

qATEA 7
(a) FzgmE
(by =T -:;ﬁﬁii!l

(c) afergehal
(d) =rEhk

R T, WA S A T A A A
fdt ot o & AR e 8, A A g
SR g WEE AE @ | G FF 7

(a) Tt U A @ e g wee R

(b) 9=t e @ B g e
Tty gt o e gET B H T
e #

(c) oAt M U ueEew ® fee
wpren T Grea suhT gt P &
SN 21 km #E §

(d) gt wEve v A @ Fret wme
vt e, et T P At s
21 km = &

e C e e e e e e o

(a) Pt woigr gen g @ o
FEHIA T AT GR T U HE BT B
o M O e o e o
s figm a2

(b) Tt sawER ge g G
TEEE W A O] FEt R OaE
o 8

19

81.

82.

(c) Fret =aWiER 9w g fed m
FEFT AT G Al 9 WEl g
2 WEl W EEE = 99 T &
el =AM O WEW B, WE
SRR e &1 A e
[

it TRFET T 1 IR G
o & o for St v 9 AR
1 T

(d)

formfafan # 2 99 o1 v, deryf @m Tt
E 2

(a) G =

(b} TEETERET =W

(c) =EO EH

(d) Tamka ==

T | kg TR A qoR AT o @6l 8,
o | =g = w0 war T = g, A 9
iz == it e &

(a) 1 km/s = =9 & S=T
(B) 1 m/s & w0 H =AW
(¢) 1 m/sH a1 & S5

(d) 1km/s? 3 =0 H W

wquan ot feafs 7 geemaa A & T
& o Fermrfirfiaer # % ol i e < ST

vt faiell & o s (i) # e
AR T

(a) Forgerdiet TR

(o) e =

(¢) ST AR 9% s o

(d) Terge g

A — ADN-S-FST
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83, Which of the following are the features

of the ideclogy of utilitarianism ?

1. Utilitarians belicved that all value
derives from land

2. The most celebrated spokesmen of
uttlitananism were Jeremy Bentham
and John Stuart Mill

3. Uihlitarians were ‘advocates of the
idea that India could be ruled
throungh ndigenous laws and
Customs

4. Unhtanans were advocates of the
idea of the ‘greatest good for the
greatest number of people’

select the correct answer using the
code given below :

{a) 1 and 4 only
(b} 2 and 4 only
{c} 1,2 and 4

(d) 2 and 3

. Who among the following invented the
powerloom that revolutionized the cotton

textile industry ?
() Edmund Cartwright
(b) Samuel Crompton
(¢) Richard Arkwright

{d} James Hargreaves

ADN-5-FST - A
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BS.

86.

7.

Subsidiary Alliance was a system devised
by

{a) Lord Wellesley
{b) Lord Dalhousie
(c) Lord Canning

(d) Lord Ripon

Consider the following statements :

1. Periplus is a Greek word meaning
sailing around.

2. Erythraean was the Greek name for
the Mediterranean Sea.

Which of the statements given above
15/are correct 7

(a) 1 only
(b} 2 only
{c) Both 1 and 2

{d} MNerther | nor 2

Who among the following was defeated by
Sama Nehwal to win the women's title of

the Australian Open Super Series
Badminton Tounament, 2016 7

{a) SunYu

(b} Carolina Mann

(c) Wang Yihan

{(d) Sung Ji Hyun
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83, frefafas & & == &, swfoeEs

Framam % sfimem 2 7

1. FatfmmETe = fEm o & e
= gfl # 3o B

2. FEREERE 3 Al TS E
AT S SR A A e

3. IugifiaEE = e & a8 f
ARA 1 3319 FAT HR w5
arfae fean = oA B

4, Fatfiramr afiman @0 & fag
aftrem o & e & gads 4

A fl ™ F2 W W s AR SR
T ;

(a) Haw | #R 4
(h) FEa 2 3 4
(¢) 1,2 5% 4

(&) 2 3R 3

. Tt aeen (wreve ), fodt wE! ammam
# wifa an W, F7 @ Feafataa 4 8
T 1 7

(a) TEHE TR

(b) AT FEHEA

(c) fos s

(d) = FRie

21

BS. UEE® | =aw (WiEAlsdl UEWe)

86.

B7.

oo g st 1w 4t 7
(2) EASAH

(b) IS TRt

(¢) I Hwm

(d) 12 Fm

frafefan ===t « f=w $ifao .

1. Brvers T gt (3 g & P
o SEATE F R |

2. T, HEETEER T At ()

AT o |

o FAA H A I /AW R/ 7
(a) +49 1

(b) e 2

(¢) 13 2 3t

@ # &t 1,9 82

B 1 e e p——
Sefien bz, 2016 wiem faama was
% forn Frmfofias # 4 B8 gom o 7

(a) 79
(b) S A

(c) = famm
(d) HT A T

A — ADN-S-FST
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Consider the following statements :

He was an Indian journalist, editor and
awthar. He was associated with the
Statesman, the Guardian, the Times of
fndia ete. He received the Ramnath
Croenka Lifetime Achievement Award in
20013, He died in June 2016,

The person referred to above 1s
(a) B K Karanjia
(b) K M Mathew
(c) Inder Malhotra

(d) NManasaheb Parulekar

Achyut Lahkar, who died recently, was a
(a) sporls admimistrator

(b} waldlife photographer

(¢} mobile theatre personality

{d) bureaucrat

Recently Microsoft announced 1ts 26-2
billion dollar acquisition of which one of
the following professional networking
sites 7

(a) Partnerlfp
(b} PerfectBuosiness
(c) StartupNation

{(d) Linkedln

ADN-S-FST - A
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91.

92,

Which of the following statements
concernmg Medilemranean climatic region
are correct !

. It 15 found m the labtude ranpe
30° to 45° northemn and southern
hemisphere

2. Mediterranean chimate expetiences
extreme temperature conditions

3. In Mediterranean chimate, ramfall
occurs  mainly during  summer
SEas0n

4. In Mediterranean climate, rainfall is
mamly due 1o Westerhies

Select the correct answer using the
code given below !

(2) 1,2 and 4

(b) 1 and 4 only

(c) 1,2 and 3

(d) 3 and 4

Arrange the following states in decreasing

order of therr iotal area under forest
cover:

l. Jharkhand

2. Chhattisgarh

3. Arunachal Pradesh
4. Madhya Pradesh

Select the correct answer using the
code given below ;

(2) 4=3—2—1
by =2 =% = ]
e e S (e

www.upscstudymaterials.com



www.upscstudymaterials.com

88, fr=tatas ot o fmw $ifan .

B9,

¥ UF AWAM TEEE, 9GS U J9F
4 | ¥ 3 weaia, ¥ Wik, 3 27 AT
i ganfe & W2 20 4 | SER 2013
AT AT ATETEH  AEEHE
sraTE ww fepn @ | IRt B A 2016

#zt |
Fuden =ik &1 A R 7

(a) = F
(b) & H #7
(c) W&T weern
(d) FTTEHTEE G

Foqd wESd, faadl g weEl A E,
T g 7

(a) ¥ TUAHF

(b) FEHT BEAHI

(c) = Tw (T famer) saftne
(d) FAFRETE

. B A Ay A et et

At ars W | e v S 26-2 fatee
zier # siftrmm g = o e 7 2 7

(a) TR
(b) ThEte
(€) ETEATEH
@ form

23

1.

92.

QHEETAE AGETE WAW ¥ wEw #
Frffm s A sl a ol & 7

(O o s A - T L 0
O 30 /459 H UTET A R

2. JHEIETEE WeEe § = A e
2l @

3. WWETEEOE Wedg o, 991 e
1ieq =g & 9E Bl 8

4. yEEgEEEE wwa #, Tl g
AT TATAT & HW S &

GIE AR OB o T T B T
T

(a) 1, 2 #K 4

(b) FHaEA 1 3K 4

fc) 1,233

(d) 3 3K 4
Freiferfigs ot =) 99% 5w aT=EER
BT o BIEAT wH # sratean Stfe
| G

2. BEETG

3, HEUE WY

.d,nmm

A g m@ gz @ wEw # WE 9
Eﬁtﬂ:

fa) 4-3-2-1

b 4=F-=3—1

(€) 3—-4-1-2

(@ 2-1-3-4

A~ ADN-5-FST
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Which of the following statements
concermng  Scheduled Castes (30
population in India are correct 7

. The highcst percentage of SC
population out of the total population
of the state is found in Punjab

2. Bihar 15 the second largest state in
respect of total SC population in India

3. Untar Pradesh has the highest number
ol 3C population in India

4. Among the Indian states, the lowest
percentage of SC population out of

the total population of the state is
found in Goa

Select the comrect answer using the
code given below :

(a) 1, 2and 3
(b)

{c) 2and4only

| and 3 omly

(d)y 1,2and4

Match List 1 wath List Il and select the
comrect answer using the .code given

below the Lists :

List [ List TI
{Element) (Highest Valency)
A. Sulfur l. Five
B. Phosphorous 2. Six
C. Lead 3. Two
D. Silver 4. Four
ADN-5-FST - A
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95.

06,

97.

Code :
A B C D
i R R [
T I A [ U,
e I T i
e L | 2

Which one of the following species 15
mof capable of showing dispropor-
tionabon reaction 7

(a) ClO-
(b) Clo;
(€) Clo;

@ Clo;

Which one of the following statements
is correct 7

(a) Covalent bonds are directional
(b)

(o)

fonic bonds are directional

Both covalent and 1womo bonds are
diréctional

Both covalent and ionic bonds are
non-directional

(d)

When one sirikes a safety match, the first
step 1s

{a)
(b}

burning of sulfur

decomposition of potassium chlorate
into potassium chionde and oxygen

conversion of a small amount of red
phosphorus into white phosphomus

el

(d)

burming of glue and starch
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93. ANA # AHET Afar (SC) F e #§
wafan fmfafiaa wo91 4 3 919 & ot
g7

1. 715G E e FAEear ® § S wHEE
1w owE ° st gy mn

s

2 WA H F9 SC weeem & e H
R o Aae s o=

3. WA H S AAEE thi FTes §ar
TS H B

4, MW T W, T I T AAEE
T § SC e F FEas whhvm
=T # 97w R

A 58 1 = ow v = ogE T
T :

(a) 1,233
{b) Fa= 13
(¢) A7 244
(dy 1,23T4

94, T 17 71 11 & wofa il g gt
F 9 fou Mo g w1 wEE W wE O

g

il A1
(7r=) (FEAw AT )
A, T I I
B. HleRRH 2 =
C. T 3R
. wiTgt 4, 9T

L -3

(@)
(b)
()
(d)

05, Frmifafae vt # & 58 & U,
T sitiRE e 3§ wad T
3
{a) ClO-

(b} ClO3
(&) Cloy
(d) Clog

B
4
1
1
4

(G o S S = T
— e o = )
BB s e

9. Pt st d d s st 2 7
(a) wWEwarE smEy fifis £
(b) gt ey i 2
(c) H’E:mi‘lﬁ“r qTET HEAT HEH, el
fefirs &
(d) FEeEE 9T AT A, a6
afefies #
97. == FTE TR Teomered it =1 =1 3ad

Ta=it v vzar €, o vee =9 9% W B
 JE

(a) T9F F AT

(b) wrefirmw e w Tefinw IEnEs
Ty HiFEtEa H A9

(c) T RIERRE @ I g7 T 69
FIORRE # B

(d) | (W) T97 TN w0

A - ADN-S-FST
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98. The LPG cooking gas contains propanc

929,

LMD,

101.

and butane as the constituents. A sulfur
contaiming compound is added 10 the LPG,
because

(a) it lowers the cost of production

(b) it enhances the efficiency of LPG

()

it facilitates casy detection of leakage
of the gas

{d) 1t assists in hiquefying hydrocarbons

The genetic material of bactena 1s found m
{a) mnucleus
(b)
(c)

(d)

gytoplasm
cell membrane

nbosome

A horse and a donkey can breed to
produce mule which is an infertile animal.
The mfertlity is because horse and donkey
belong o different

{a) class
(b) order
{c) specics

(d) genus

A plant having vellow leaves with dead
spots has the deficiency of

(@)
(b)
(c)
(d)

Potassium
Magnesium
Nitrate

Phosphate

ADN-S5-FST - A
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102.

103.

104,

105.

Fluoride toothpaste 5 sometimes

recommended because fluonde
(i)
(b)
()
(d}

prevents plaque formation
hardens the enamel of the tooth
kalls pathogenic bacteria

prevents tooth ache

Along a streamline flow of fluid
(%)

the velocity of all fluid particles ata
given mstant 18 constant

(b) the speed of a fluid particle remains

constant

the velocity of all fluid particles
crossing a given posilion is constant
the velocity of a fluid particle remains
constant

How is the kinetic energy of a moving
object affected if the net work done on it
15 positive Y

(a)
(b)
(&)

(d])

Decreases

Increases

Remains constant

Becomes zero

A particle is executing simple harmonic
motion. Which one of the following

statements about the acceleration of the
oscillating particle is true 7

It is always in the opposite direction
to velocity

(a)

(b)

It 15 proportional to the frequency of
oscillation

It is minimum when the speed 15
AKX imIm

(c)

It decreases as the potential energy

INCreases

{d)

www.upscstudymaterials.com
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98, LPG T 8% 3 Wi i =520 T 5 ' 102, WO o9 W o we-se gwhh
W B E | LPG U wasg At ST T AT #, I TSRS

Frrevrr v & 2 (8) T % =AY AT T R

(a) TR Io9EA F AV FOTH T B (®) i 3 v = g5 e &
() THTEE SEME H AW &
(d) =TT & 5% o AFAH F S

(b} TE LPGH1 51 it =7 B
00 L 0 gl 1 o e

A H e fhadr 8
(d) % RIEEIEAL S Gl e A gemar 103, B W g e wEe # agle
i (a) Fdt FBisaa go 3 g s o
99, SEmaT w1 arEtis e e aen 1 G S B
T2 ? (b) e oht afy e == et @
(a) SEw (c) et faivam foufa it oR #@ wq
by FfirEE THTA T T 1 ST TREH A
(c) ifirerT-a (d) TS T HT A A9HEA Al §
(d) TrEEEH 104. Tt wienmm fig & nfaw =91 e = w
L waTlE 21l & ot wn w B o A e
100, T |21 3 U N A 5 G 06l &1 & 2
Hee & w1 Uk a9y & 19 e i Ay '
i @ & e fase & = oe (a) = & TR 2
ST et & 7 (b) =g el &
{a) w (¢) Fafadt et
b) #H (d) 9w T R
i “."ﬁ 105, S For ge ad Af § @ | ST o S
h = o & wat Pt o & 9
101, fiet it & et aftwn a g o= (3 B ¢ 7
warz) Fefafiaa 7 & Fra o =t & Fmw (a) ze aia dm F fAeda e ¥ S @
T e (b) um G i sghy & wEToE e
ta}q‘t%ﬁm*’r (c) == iy siteem w8, = um
¢ (b) s A
(¢) ATEZ (@) - feyle sl wed @ 2 o
(d) ®TERZ S AT B

27 A = ADN-5-FST
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Which one of the following four particles,
whose displacement x and acceleration a,
are related as follows, 1s executing simple
harmonic motion 7

(a) a,=+ 3
(b) a,=+ 3
) a=
{d) a.=-13x

3

If we plot a graph between volume V
and inverse of pressure P {ie., —IF}I for an

ideal gas at constant temperature [, the
curve so obtained is

{a} straight line
(b} circle

{c) parabola
{d) hyperbola

Which one of the following statements 15
comrect 7

(a) The speed of sound waves m a
medium depends upon the elastic
property of the medium but not on

meriia property

(b) The speed of sound waves in a

medium depends upon the inertia
property of the medium but not on
elastic propertly

The speed of sound waves in a
medium depends neither on its elastic
property nor on its inertia property

(€}

{d) The speed of sound waves In a
medium depends both on elastic and

mertia properiies of the medium

ADN-S-FST - A
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109. Which one of the following statements

110.

i maf correct 7

(a) Pitch of a sound is its charactenstic
by which we can generally differen-
tiate between a male voice and a
female voice

The loudness of sound is related to its
frequency

(b)

A musical sound has certain well
defined frequencies which ure
generally harmonics of a fundamental

frequency

(c)

(d) The timbre of a particular musical
sound is related to the waveform of

the sound wave

A particle executes lmear simple harmomnic
motion with amplitude of 2 cm. When the
particle is at 1 cm from the mean position,
the magmtudes of the velocity and the
acceleration are equal. Then its time period
(in seconds) 15

2

0

(2) 43

e

®) ==

(d)
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106. F=tefias s = § % 9 w1 o, faem

]“Tq

108.

TaearA x 3% =w g, A i o wew @
wafer §, % ova i W T R 7

(a) a,=+3x
(b) @.= + 3%
(¢) a,=— 3t

) = —

afy wm Rt syl fm & fom el A 7
I Vit T P e (e )

L

7% Frm vor =1 3 2
(a) ¥F @
(b)y T4

{c) 9T
(d) e

Frafafea 9 % %% w1 v wum wEr 2 2

(a) Foret mremm & efr wo & afy,
T & wegres qned we e a
B, 7 5 ey et 03

ferdit e # @fs gt & ofy,
weEw % Srges eree we fadfe e
% A fE weme e

rmem A e i FHirafaa
T WRATE e oY AT 9 wEd
age o i fedt et @

&t mem & wfy g & af
WedTEd A WA, A W gE) w
Tl met @

{b)

(c)

{d)

29

109. f=ferfiga # & =19 W v S5 78

1140.

ps

(@) = %1 an=m (f=) sa@ ==
atierer 2 faes oo sa Ao
UEN T a9 Wl R F dN 9 9w
A

(b) ==t 3 wererar gadh gt & wEfia
Eidt 2

() Tt e efr ¥ gt

afifeaa smafoat gt & = amammamn
T gha i HA gl g

(d) st fafire wpitfis =f 6 a=fa-

oY, e e & e A FEfm
Rt 2

TS 0 2 em T A F WY @0 G
ST T ST & | == F wrey fefy &
1 ¢m T 2, 99 3R =R & gfwm anm
® | T SEERT STt (Hve H) w7

{a)

(b)

{c)

(d)
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111. Which one of the following statements
is Mot comrect ?
(a) The longest wavelength of hight
wisible to human eye i5 about 700 nm
(b) The shortest wavelength of light
visible to human eve is about 400 nm
(¢) The wavelength of gamma rays 1s
longer than that of X-rays
(d) The ability of a telescope to form
separable images of close objects 1a
called its resolving power
i12. If the image of an object, formed by a
concave mirmor 15 wvirtwal, erect and
magnified, then the object is placed
(a) atthe principal focus
(b)  at the centre of curvature
{¢) beyond the centre of curvature
(d) between the pole of the marror and
the principal focus
113. When three resistors, each having
resistance r, are connected in parallel, their
resultant resistance is x. I these three
resistances are connected m senes, the
total resistance will be
(a) 3Ix
(b) 3rx
{c) 9x
(d) 3/x
114. Which of the following was/were the
feature(s) of Lemn’s New Economic
Policy (NEP) for the Soviet Union ?
1. Private retail trading was stogctly
torhidden
2. Private enterprise  was stnotly
forbidden
ADN-S-FS5T - A
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115.

1. Peasants were not allowed to sell
thear surplus

4. To secure liquid capital, concessions
were allowed to foreign capitalists,
but the State retained the option of
purchasing the producis of such
concems

Select the correct answer using the
code given below :

(a) 1only
(hy 2 and 3
(c)

{d) 4 only

1,2 and 4

Which of the following was‘were the
reasons for the defeat of British during the
American War of Independence ?

1. The remoteness of the American
Continent and the lack of good roads

2. The British authorities failed to rally
the loyalist Americans

3. The Americans benefited from the
extraordinary military leadership of
George Washington

4, The Amencans had access
superior anms and ammunition

ta

S¢lect the comrect answer using the
code miven below ;

(a) 1,2and4
ib) 3only
(¢y Zand 3 only

(d} 1,2and3

www.upscstudymaterials.com
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faerfafian @ @ =7 o v T wE A

e 7

(a) T 79 =t fEns 9 Al wew
HaAH o OaT-as wadT 700 nm #

(b) T A= T foun vz A1ty
wa HIE H’fﬂ-'aﬁqt TN 400 nm &

() - Tt <t A -0, 3 foo
F-oed & afys 2

@ fait g o, i A e @
g fou o wae 9wl 399
&t grTe &1 Fght e R
g

afs Tt s g grar il @ 3 =

witifera s, Sk - i war smafify 2,

= A% 5] wEl FEfem &

(a) T FiEE T

(b) TRAT-FE U

() =eher-Fm o T

(d) 7P % ya (W) o ey S &
i

WE A Wi, wedd - wiade A,
T 1L ST #, 7 e afoEt vl
xﬂlﬁﬁ'ﬂ'ﬁ'ﬂﬂlﬁ"ﬂﬁtﬁﬂﬁ“ﬁﬂiﬂﬁfﬁ%
BT B ol o e e g B L

(a) Jx

(b)Y 3rx

(¢) Sx

dy 3/x
ferfafs & & o @ /4 fifoe 99 F
foru st & o anfifer ifa (vEp) W1 /%
ey ar /9 7

1. Torsft gy w9 e afifa @
2. Tt e il aaw afie

k|

115.

3, afoetl wt 29% afde =t @95 6
Hufa =2 =

4. T gt ft wifw F foo, R
getrforat =1 Fawt &1 o, w
R S R R o Gl e e |
w1 faweT A o @

A g3 T g W W w wE I
Hfm

(a) AT 1

(b) 2 3R 3

fc) 1,2 3N 4

(d) F 4

ST & T wAW o do Rl

g &/ ftatas o 82w asa
Earud e I

1. sm il TErie = e 2 A
W] T AT

2. Tarfew wen, amfiht Fremamt =t 2/
# Taws

3. smient, ol Anfieres F smmETy

= e # e

4. wwitfaat & v Awar wEl 9o
MHAT-ATES 5 T

AR fid W@ g W oW w I
e

(@) 1,2 3 4

(b) <= 3

(¢) A 2 3K 3

(d) 1,2 &% 3

A — ADN-S-FST
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116, The industrial revolution m England

had a profound impact on the lives of
people. Which of the following stalements
are correct about that ?

1, Women were the main workers in the
silk, lace-making and kmitling
industries '

Factory managers were well aware
of the health risks of industrial work
on children

3. Children were often employed in
textile factories

4. The novel ‘Hard Times® by Charles
Dickens was a severe critique of
the: horrors of industnalization

Select the correct answer using the
code given below :

{a) | and 3 only
) land?2
(¢) 1,3and 4

(d) 3and 4 only

117. Consider the following statements

1. British colonialism continued o
prow steadily in the |8th and 19th
centurics

2. Raw cotton for the textile indusiry
in Britain during the industrial
revolution needed to be imported

ADN-S-FST - A

32

118.

119.

120.

Which of the statements given above is/are
correct 1

(a)

(b} 2only

I only

(c) Both | and 2

(d) Neither 1 nor 2

Who among the following was the author
of Neel Darpan, published in 1860 7

{a} Reverend James Long
(b) Michae! Madhusudan Dutta
(¢) Raja Ram Mohan Roy

(d) Dinabandhu Mitra

Which one of the following organizations
was started by Jyotirao Phule in 1873 7

(a) Prarthana Samaj
Bahujan Sama)
Justice Party

{d) Satyashodhak Samaj

Although used earlier by French and
German writers, the term ‘Industrial
Revolution” in English was first popularized

by

(@) Adam Smith
{b) Amold Toynbee
{c) James Mill

(d) Berirand Russell
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116, Tvs A e il &1 w0 o s o)

TET WATT 92T | 99 = | et n g
i # A a7

. igM, #F TAm AN gar s |
nfes waE wEE i

2 &g w st w F wmem
Sttt & =R F S uEEs T
avn 8 =T 9

3. WEl F W FEEE H W 56w
AT FTET AT

4. = fedem =1 9vam erd T’
HRTRTTRA0] 3 TS o T A=A
i

A 52 0@ Fz w owmm = owd T
T

(a) was 1 a2
by 1 32
¢} 1,3 3R 4

(d) Fa=3 o 4

117. Frfafen s w e i

I fafenr  wafdwEr seeE ok
ST yTaTEs o Fafie of & o
=T A @ A

2. foa = sl w1 & ghom soa
Fam & fo w2 43 w1 gEE o
EECIRCH

33

118.

119,

120.

e wt A & T W/ v e
(a) 7 1

(b) e 2

(© 1 3k 2 3

(@ T @ 1,7 & 2

1860 % wafim, ‘Hrem owdn’ w dew
fFeffamaaam o 2

(a) Lz S AT

(h) WTERE MYHEA o

(c) =T T Hgq T

(d) =g e

1873 #, =ifars w4 g, Feafafes
TS # i w7 v e e gy ar 2
(8) WTEAT AETA

(b) =TI HHIA

(c) wrfeea Tl

(d) TEOWTHE HHIA

Fargem’ = = v e T

W W # wdvan Bed oo Sefin
=17 I 7

(a) wEn fomg
(b) FATes Zig=l
(cy wwa faw
(d) FfeTEw

A~ ADN-S-FST '
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In the 19th century, the majority of the
workers in Japan's modern indusinies
were mainly

{a) Japanese men and children
(b) Japanese women and Chinese men
(c) women

(d) Japanese and Chinese men

Which of the following statements
regarding recent developments in inter-
national affairs isfare correct !

1. NATOs defence ministers agree to
boost support for Ukraine with a
comprehensive package of assistance
which will help it strengthen defence
and to modemize 1ts armed forces.

2. lsrael announces plans for construc-
tion of dwelling units for Jewish
settlers in a Palestinian neighbour-
hood of East Jerusalem.

Select the correct answer using the
code piven below :

(a) 1only
(b} 2 only
(c) Both | and 2

(d) Neither 1 nor 2

As per the RBI guidelines, which one of
the following is the minimum tenure of
Masala Bonds that an Indian company can
issue offshore 7

ADN-S-F5T - A

(a) Five yeurs
(b) Four years
{¢) Three years

{d) Two years

124. Which of the following statements aboul

Krishi Kalvan Cess (KKC) isfare correct !

1. KKC is calculated in the same way
as Service Tax is calculated.

2. The current rate of KKC is 0-50%.

3. KKC is similar w0 the KKS (Krishi
Kalyvan Surcharge).

Select the correct answer using the
code given below :

(a) 1,2and3
{b) 1 and 2 only
(¢) 2 and3 only

(d} 1only

125. Which country won the Thomas Cup

Badminton Championship, 2016 ?
(a) Indonesia

(k) Denmark

{c} China

(d) Malaysia
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FHTEE! YT W & e S
FitwT FnE w9 4 7

(a) T IEW ST ==

(b) =t wfemd st S e
(c) iy

(dy ST o W gER

HTTCTENT ATHET 21 & uoAEe & e
# fFeefafes =201 % @ o9 a31/8 o
2/E?

1. NATO & & w1, o9ma & UH
Foege 99w & W, T % o
HA w1 #RTAT 59 U wed ©, W6
8 F TN W WA FA, 99
w8 o=t ¥ sy #

TEE BT

2 TR A YE meysH % 9Ew
frfefert e # aegt aftafiat &
o oamEm s=emt & Feim i
AtATat 1w $ 2

AR Gl g o wEE S wE e
w4

(a) FAH |

(b) e 2

(¢) 1 #R 2 g=f

(@ 8 1,9 &2

RBI % Anfes frgral & #qaw, warn
atel 1, ford #i welm St s A
ST Al 2, e st Pl
# = 6t o 8 2

35

124.

115,

(a) o 39
(b) =% ¥d
{c) GICE L]
(dy =
g FEm e (KKC) % o=v #

fffen w991 § @ =9 /% a8
B/R7

I, KKC 391 wa wiisfer fear = 2
fom wam afde B=w viefom e
ST

2. KKC 1 adam 5t 0-500 8

3. KKC, KKS (Ffw F=m afiraw)
e g

3 fad m w w wEm W
AT 5

(a) 1,2 3k 3
(b) F=er 1 3R 2
(c) e 2 31T 3
(d) =HEe 1

qiae o9 dethed AugEiam, 2016 e
Eot e B o

{a) BT (Fi|
(b) ZTARTE
ich =M

(d) weEm

A — ADN-S-FST
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126. Match List T with List II and select the

1Z7.

correct answer using the code given below
the Lists :

List1 Last I

fLilira mega (Siare)
power project af
different stages

of development)
A. Sasan 1. Gujarat
B. Mundra 2. Madhya Pradesh
. Tilaiya 3. Andhra Pradesh
. Krishnapattam 4. Jharkhand

Code :

ta). 2 4 1 g
B 3 4 1 2
1] 1 4 3

dy 3 I 4 2

The world's largest biomass cookstove
svstem for cooking in community kitchen
has been installed at

{a) Tmmupau
(b) Ammriisar
{¢) Shirdi

idy Udum

ADN-S-F5T - A

128. Which one of the following sectors 1s

the largest contributor to carbon dioxide
emissions from fuel consumption in India 7

(a) Electricity and heat production

(b) Transport

{c} Manufacturing indusiries and con-
structions

{d) Others

129. As per census 2011, which one of the

following states has the highest number of
inhabitated villages 7

{a) Uttar Pradesh

(b) Odisha

(¢) PRajasthan

(d) Maharashtra

130. The property of electric current which 1s

applicable in the fuse wire iz

{a) ¢chemical effect of current

(b) magnetic effect of current

{c) heating effect of current

{(d) optical property of current

www.upscstudymaterials.com
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126. #1131 11 3 gt Fifim g g

& 1 fon 0 2 7 v A A w
T

A a1
(forrre & fafim (7r=w)
T U AR A

qTET WA )
A, | . T
B. H5T 2. Heg wew
. fadan 3, 34 weu
D. FST9gH 4. FEE
WT :

(@) 3 g e 3
) 30 i 2

(c) 2 1 4 3

{d 3 1 4 2

argeTfis W J wwtm & fo e f
TEEH ATATHT o] WOTH! o AT
LER

(a) foreafy
(b) HETEL
(c) fast

(@) Igh

128,

12%.

130,

freffias st § 8 = o o, g
U G | FEA EHEETES o &
HaH =2 AN 2 7

(a) Frgo s s T

(b) THEEA

(c) Tt sam 397 feo-wd

(d) =

2011 & FWOET & aeT, Fethfan
e # R e ouw i 9@ mu o
sftrway wem

(a) T WAY

(b) atfEsm

(e} e

(d) wERTS

T A H R R i A A =
B # 2

(a) W 1 qETEE A
(b) &7 T ek R
{c) HFI = 999 WHE

(d) =T 1w e

A — ADN-S-FST
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Which one of the following statements
is mot correct 7

(a) The SI unmit of charge is ampere-
second

(b) Debye is the unit of dipole moment

(c) Resistivity of a wire of length / and
area of cross-section a depends
upon both { and a

(d) The kinctic energy of an electron of
mass m kg and charge ¢ coulomb,
when accelerated through a poten-
tial difference of F volt, is el joule

Two balls, 4 and B, are thrown simul-
taneously, A vertically upward with a speed
of 20 m/s from the ground and B vertically
downward from a height of 40 m with the
same speed and along the same line of
motion. At what points do the two balls
collide by taking acceleration due o gravity
as 8 m/s* 7

{a} The balls will collide after 3s at &
height of 30-2 m from the ground

(b) The balls will collide after 25 at a
height of 20-1 m from the ground

(¢) The balls will collide after 1s at a
height of 15:1 m from the ground

(d) The balls will collide after 5s at a
height of 20 m from the ground

The setting time of cement is lowered by
adding

{(a) oxides of alummium
{b)  gypsum
{c) oxides of magnesium

(d) silics

ADN-S-FST - A

134. Emulsion 15 known as a

135,

136.

(a) colloidal solution of substances having
different physical states

(b} true solubon

(¢} distillaion mixture for
alcohols

making

(d) colloidal solution of two liguids

If one mixes up ashes with animal fat, the
substance received in the crude form 1s
called

{a) Pheromone

(b) Soap

(¢) Cement

(d) Concrete

Which of the following statements with

regard to coverage rate of Aadhar cards
during 2015 is/are comect ?

1, The coverage rate of Aadhar cards in
western India is quite high and it is
above 90 per cent in Gujarat

2. The coverage rate of Aadhar cards 13
the highest in southern India and it is
almost 100 per cent in the states of
Telangana and Andhra Pradesh

3, The penctration of Aadhar cards has
been very low in north-eastern part of
India and it is the lowesl in Assam
and Meghalaya

Select the correct answer usmg the
code given below |

{a) Zonly

(b) 1 and 3 only
{¢) 2 and 3 only
(dy 1,2and3
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trfafas s # @ 39 o1 w9
T # 7
(a) A% F SI zhrE Ui - @

(b) == foya smeef ot s #

(c) T [ 3R IweT gfess 899 o
 TF AW i wieRiEmaT | 30t g 5Et
oy fft 2t 2

(d) FTHETT m kg A HAY o FAW F
o wmem it afsw =, 3@ v
e & farEer F 2e |mfa 55
W, eV S A

g a4 HK B w4 F owEE R

Iﬂmfs?ﬁ'ﬁﬁmmmﬁaﬂiﬂm

B &t a0 m = S @ weate w9 o A,

waT i & Ay vl B wwe T, w

g FE T 2 T A

9-8 m/s? w4 BE, 7 A% fow g w

TEREI 7

(a) % WA & 30:2 mhl FATE 9K 3z F
=G TR

(b) & FHE & 201 mFT 39 W 25 F
15 T

(c) MFAA 151 mETIAE T e F
=TS TR

(d) & = H 20 m T FAE 9 5 FAw
R

HitE & ATgH wWG w0 AT S w
o s & 7

(a) Uglrfrrm w1 T
(b) T ;

(c) Wutiimw #7 FiFams
(d) Firfors

39

134,

135.

136.

e & R Ry ¥ AT £ 7

(a) Fafira sitfrs smenst o geml =
(b) aTEArET B

(¢) TmRIETe = % T ameEs fio
(d) =T F Fres few

gt #id g i vy 9= & av fem R
FTHETT €Y H WTH TS w1 w7
(a) WREN

(b) AR

(c) #HHZ

(d) iz

i 2015 F Fhe saw w5 & fEw
2 (Fa ) F AR 8 el g 1
"1/ 4 T wE R/
L. s w1 o frea o uivast-wre
# w1 At # o wm # Tw
90 wies # s 2

2. smum #1E fit Frm ot efmit- v
w2 ot A T Ay wew
T H g s 100 wihee #

3. WA & Fe-gAt wET A S T
A Hd F9 @R a9 A i
urey | ag e &

A Rl o g W wEm ow W I
ﬁﬁl't{:

{a) e 2

(b) FEF | @3

(c) Fa92 #R 3

(d) 1,233

A — ADN-S-FST
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137. Which one of the following is the correct

138.

139,

descending order of countries in terms of
per capita availability of arable land 7

(a)
(b)

India — China — Brazil
China — Brazil - India
Brazil — China — India

()

(d) Brazil - India — China

Match List T with List 11 and select the
correct answer using the code given below
the Lists :

List ] List I
{Geomorphic (Feature)

Agent}
A, Grround water 1. Plunge pool
B. Running water 1. Horns
C. Glacier 3. Playas
D. Wind 4. Lapies
Code :

A B C D

@y o4& F 22 =
by 3 2 1 4
ey 3 1 T

e P G R

Which of the {following statements
concerning temperature is/are correct 7

l. In winter season isotherms in
Northern Henusphere are more or
less cireular on contiments

ADN-5-F5T - A

40

140.

2. Isotherms are parallel to latitude in
Southern Hemisphere in oceans

3. Minimum temperature during winter
15 recorded in Northem Canada

Select the correct answer using the
code given below :

fa) 1and2only

(b) 1and 3 only

(¢} 1I,2amd3

@ 2only

Which of the following statement(s)
concerning natural regions of the world
is/ane comect 7

1. Equatorial climatic regions have less
 urbanization

2. Mediterranean climatic regions have
high level of urbanization

3. Equatorial climatic regions have high
concentration of human population

4. Mediterranean climatic regions

practice plantation farmimg

Select the comect answer using the
code given below :

{g) 1and2 only
by 1, 2and?3
(¢) 2and4

(d) 1only
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137. Trfafaa & # = v, wiy = Ffh-

138.

138,

Al YH 6T FIARE & T W S
R I e B

(a) WA — = — A
(b) I — WA — W
(c) WA — S - 9
(d) AT — HRE 0

A 11 =111 # gefea Fifsm o gl
& i fou o w2 v o wE ae

Hﬁq:

Gl I
(7-wvwfas (srfirerer)
#firs)

A. - I FTE-%8
B. WAt 3w 2. A (B
C. e 3,
D. w&q 4. WA
T _
Al "B € D
(a) 4 1 2 el
(o) MR - G
(c) 3 | 2 4
£ S T
o @ aEfad, Feafafas # 8 9
|l /R Fu wE R 7
1. 4t o ¥ Sl T | AT e
HETRIGT T ST g B

41

1440,

2. =it e # weEwmEl #§ aaa
TET Ty & T gt S

3, W g 7 Freeem agem Sedt FAner
5o faran s 2

A el 1 g W owEm am oaE
T

(a) ¥ 1 ST 2

() FAA | T 3

(c) 1.3 HT 3

(d) =2

frem % gt drt & wrefira, Prerff
HHFER m/d w8 0

1. Fergerta e weat # A
FH AT B

2. WASHENRE TS0t Wea § it a
WAL BT R

3. Tagadtm SeEmEdEt waw # wEE
FATEN T 39 T 2

4. FHEAHTIN STEATEA & A T
S &t A

T f5d @ Fe W wEm W= o R
T ;

(a) a1 3 2
by 1,2 3% 3
(c) 2 3 4
(d), Fa |

A~ ADN-5-FST
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141. Which one of the following gases pives
acidic solution on dissolving in water 7

(a) Hydrogen
(b) Carbondioxide
{c) Nitrogen

(d} Oxygen

www.upscstudymaterials.com

142. How many moles of hydrogen atom are

present in ome mole of Aluminium

hydroxide 7

(a) Onemole
(b) Two moles
(c) Three moles

(d) Four moles

145. Consider the following statements about
the Constitution of India :

A Member of Parliament enjoys
freedom of speech in the Parliament
as a Parliamentary Privilege pro-
tected by the Constitution of India.

The Constitution has vested the
power to amend the Constitution in
the Parhament.

Which of the statements given above

isfare correct 7

(a)
(b)
(c)

(d)

143. The United Nations proclaimed 21 June as

(a) Imternational Mother

1 anly
2 only
Both 1 and 2

Meither 1 nor 2

146. Which one of the following statements

(b) International Widows' Day

Language Day about the Union Executive im India is
correct 7
(@) According to the Constitution of

(¢) Imernational Day of Yoga

{d) Itemational Day against Drug Abuse

and Mlicit Trafficking

144. Who are Bhawana

Kanth, Avani (b)

Chaturvedi and Mohana Singh 7

(a) Sprinters
(b} Rock climbers
{c) Fighter pilots

(d) Mountaineers

ADN-5-FST - A

(d)

42

www.upscstudymaterials.com

India, the total number of members of
the Council of Ministers cannot
exceed 20% of the total number of
Members of the House of the People

The rank of the different Ministers 15
determmed by the President

The Ministers are appointed by the
President on the advice of the Prime
Minister

Only a member of either House of
Parliament can be appointed as &
Minister
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ﬁﬂﬁ%ﬂﬁﬂaﬂaﬁﬂnmﬁgﬂ%m
ety e A £ 7

(a) ETERrA

(b) A TRt

(c) A

(d) T

AT BTEETTEE % U Hid 8 gresre

T & T W fremmm 2 8 o

(a) T AW

) 2w

(¢) #H =

() =R A

A TR A 21 5w fw faw & ww A

siftr i 7

(a) S wvg sy feam

(b) s faar fmw

(¢) ATy O feam

(d) wTEF FH-EEA UH ¥dy ARt &
freg gt femm

AT i, s i ok wen R

FHE 7

(a) G

(b) ST

(c) Tg=m faam =

(d) e

43

145, wrig & gfem % 9r & Frefafas sa9i

ﬂﬁiﬂﬁm:
|. T HHg H5ed, #Ag # st &
Haaar &1 I, WEA & g
T T U gee Rdwrfier &
B # A B |

2, afeam 7 dwiams F1 gaifs = 5
oifeh @ & fafgg o 2 |

I FAA A & A/ w2
(a) Fa 1

(b) 2

(e} 1 3R 2 3t

(dy 7 & 1,7 ¥ 2

146, W # #a Sl & an # frafafa

FUAT B B BT AT UF GEI R 7

(a) ¥ & wlEEE & swgan, wfi-ufg
& "t i Fw wen, " e
TEEAT I T WEAT & 20% @ i
el B #Hdl

(b) Tafirs wfmt & dvit (3) =1 faufor
wreate wre fonar s &

(c) wPet i Frafes vam = 6 7o
T, WeHhy gEy i St #

(d) Ho% & Tl UF weq & W =1 8
w=t & = # fages fea s e £

A — ADN-S-FST
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147, Which one of the following statements

about Money Bill is correct 7

(a) A Bill shall be deemed to he a
Money Bill only if it provides for
imposition of fines or penalties

(h) A Money Bill shall be mitroduced m
the Rajva Sabha

(¢) The Rajya Sabha can reject the
Money Bill

(d} The Speaker of the Lok Sabha finally
decides if it 15 a Money Bill, should
any dispute about it anse

148. Which one of the following powers of

the Prime Minister of India i5 codified
in the Constitation of India itself ?

(z) The power of advising the President
as regards the appointment of other
Ministers

(b) The power lo allocate business
amongst the Ministers

(¢) The power to summeon the meeting of
the Cabinet

(d) The power to transfer a Minister
from one Department to another

ADN-5-FST - A

149, The cylindrical stone seals were used in

150.

which civilization 7
{a) Harappan

(b} Egyptian

(c) Roman

{d) Mesopotamuan

Which of the following stalements
with regards to the Civil Discbedience
moverment isfare correct 7

1. The movement reccived massive
response from business groups and

peasantry

2. The movement coincided with large
scale labour upsurge in Maharashtra

1. The movement was marked by the
mass participation of lawyers and
students

Select the correct answer using the
code given below ;

(a) lomly
(b) | and 2 only
{c) 2and 3 only

(dy 1,2and3
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g i & e d effas saat & 5
Eane ok i A
(a) et foftos =t o Bedes = o

o ST T FET =

(b) &= Pt T T & qenfE B
BB

(¢) Tom W G4 e w7 AWEL a9
AT &

() afz 7 IR # 51 Fee wm w1, @
e w7 wEE B s o w2
fer =15 fafms ae fafas 2

ARE = v 9= 1 et afeat |
# FF Al UFH, WEA o 6fEEW 7 #
A=z 2 7

(a) &= uPmE = e & faeg 4 guefy
&t HETE 5 0 ol

(b) P F == o ' £ ufe
(¢) wfmER &1 dzw = ge i 9fE
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Note : English version of the instructions is printed on the front cover of this Booklet.
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Max. marks 600|No. of items dropped: |NIL

Items to be taken for scoring: 150
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15 C |30 )| C | 45| B | 60 | Bvw.upsc§tu@ymptgils.cam [ 105| C [120| B | 135] B | 150 | A




